Perform a frequency analysis on the following poem by Ogden Nash.
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If an electron and a positron annihilate each other, then how much energy would be given
off? (*The positron or anticlectron is the antiparticle or the antimatter counterpart of
the electron. The positron has an electric charge of +1e, a spin of !4, and has the same
mass as an electron.” http://en. wikipedia.org/wiki/Positron)

E - gme’
G = (zme)C”
s

b‘“mmm

i
” 1#‘&;1\1!5'“ qﬁ.oo'nm"}
5 Ledne " Seule

The Leaning Tower of Pisa is 55.863 meters high. Use the concept that the gravitational
potential energy is converted into kinetic energy to find the velocity of an object just

before it hits the ground — assuming the object was dropped (not thrown) and that air
resistance can be neglected.
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